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QUESTION 1

Organization tree hierarchy can be changed from administrative console.

Which of the following statement is TRUE?

A. All objects within an organizational container can be transferred to a different organizational container.
B. Users within an organizational container can be transferred to a different organizational container.

C. Changing organization tree structure does not affect users in IBM Security Identity Manager.

D. Services and policies will be transferred automatically to the new organization branch.

Correct Answer: B

QUESTION 2

In a Websphere cluster configured with default file locations, where is the SystemOut.log for a particular application
server?

A. lllllogs
B. //lllogs
C. /logs/
D. /llogs

Correct Answer: C

QUESTION 3

After performing a successful test connection of an IBM Security Identity Manager (ISIM) 6.0 adapter service in ISIM,
which of the following is information available on the "Status and Information" tab of the service?

A. Adapter version, profile version, adapter memory usage
B. Adapter version, number of disallowed accounts

C. Profile version, number of orphan accounts

D. Number of pending requests for the service

Correct Answer: B

QUESTION 4

When gathering requirements for workflows, which function uses workflows?
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A. Organization Tree development
B. LDAP Adapter development

C. Reconciliation development

D. Lifecycle development

Correct Answer: D

QUESTION 5

Which DB2 command provides information about the execution state of the database?
A. Get database manager configuration

B. Get database configuration

C. Get monitor switches

D. Get snapshot

Correct Answer: C
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